travée constructive sur le batiment scolaire

75

1

Bruggisser

Berset
Hasani

I
IS
IS
IR
SR

3

3
95%

55
55
5%

S
B3]
g

=
%
3
2098
a2

]
=
3
$
&
4562

%
o
S
5
<

R
]

ot
B RRee00000000)

R
R
Ry
R Rsss]

Il
e
%
3
5
X

-
o5
X
o5
3

3
3
S
0%
%
X
%
5

I
4
|
|
|
|
|
|
|
|
|
|
|
|
|
|
T
|
o
3%
5
%
2

=
5%
3%
%
K

%

K

e
R
L8
R
SRR
3
ote%e?

%2
o

255
o2

5%
e
5
<5
fotet

s
%

25

208

3
55
5
X
2
K
8

K

it
{)

3
%2
ook
%

%t

N
il
5
oS
5
totete

22
R85
5
oS
oose

=
=
2

R
55
35

e

SRR,

ERERREL
s
SRR
setatetatitetetetetets

s
%

A

o
3%
5%
%

%ot

S
S
<

%
5
%

tete

V7777777777777

iz,

.

=
95
o5
5
%

=
5%

%
008
o2

2
%3

3
5%
2ot

5
9%
55
55
otk

1

|

|

N

S
il
3
S8
0N
Setetotet

N
5

XXX
s
QRS
RS
oS
stetet0tete

3
oo

U
B
SR
RS
otetetetetetel

5
3
%
5%
2ol

X%
8%
2%
2555
5%
o206

3
95%

55
55
%

5%
%

3%
K

TSNy
il
%z
5
atote

EETEER AN AN AN ANN AN NN

)

72

(X

Tz
R
oSS
s8]
x5
stotetetetel

885
o

=
5%

3%
%
%

0%
s
s
s
R

%
s

X%
55
2%
2555
5%
otodets

o
%3

3
%
2ot

2
2385
Jasesess

oS
555

5%
5%

%
%
X

%
5%
159%

555
s

B R R TR TN
s eSSt es
B R SSEES
R ORI

e
)
R
R

B
%
K
K

)

s
5
S

R
SRR
QK
RS
SR

%
53
8

X
5
3

%

208

X
%

%

5%

552

X
2505

S5

%
555



	ARD_ travée p2

